Introduccion

a los Algoritmos — 2007

Tabla traducciéon “Célculo de Programas” a Haskell

Expresiones, tipos, definiciones

1+22%+/64
“pAgA (trueVr) = false
raiz1.1.42.3

cuadrado : Int — Int
cuadrado.x = x x x
(cuadrado o cuadrado).10

divisible : Int — Int — Bool
divisible.a.b=b mod a =0

primero: (A,B) — A
primero.(z,y) = x

raizl.a.b.c = (=b— sqrt.disc)/(2*a)
[disc = b2 — 4% a x|

maz.a.b = (a<b—b
0b<a—a
)

facm = (n=0-1

On # 0 — fac.(n—1)
)

fad0 = 1
facd.(m+1) = (n+1)x* fac'.n

Listas

1230
[1,2] ++1(3,4]
[true, false] <true

1+ 272 - sqrt 64
not p && q && (True || r) == False
raizl 1 42 3

cuadrado :: Int -> Int
cuadrado X = X*X
(cuadrado.cuadrado) 10

divisible :: Int ->Int -> Bool
divisible a b = b ‘mod‘ a ==

primero :: (a,b) -> a
primero (x,y) = x

raizl a b ¢ = (-b - sqrt disc)/(2xa)
where disc = b"2-4*a*c

]
o

max a b | a<=b
| b<=a

1
»

facn | n==0 =1
| n/=0 = n*fac (n-1)

fac’ 0 =1
fac’ (n+1) = (n+l1)*fac’ n

1:2:3:[]

[1,2] ++ [3,4]
[True,False]++[True]
length [1,2,3,4]

0,1,2,3] T 2 take 2 [0,1,2,3]
0,1,2,3] | 2 drop 2 [0,1,2,3]
0,1,2,3].2 [0,1,2,3]112
largo : [A] — Int
largo.]] = 0 largo :: [a] -> Int
largo.(x>xs) = 1+largo.xs largo [1 =0

largo (x:xs) = 1 + largo xs
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